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QUESTION 1

Which statement about the deployment of Cisco Conductor with Cisco Telepresence Server for Rendezvous
Conferences is true? 

A. Conductor must be added to the TMS database. 

B. A SIP trunk must be established between Conductor and the TelePresence Server. 

C. A neighbor zone and search rules must be built between the Expressway and the Conductor. 

D. A neighbor zone and search rules must be built between the Expressway and TelePresence Server. 

Correct Answer: C 

 

QUESTION 2

Which two options are deployment models for Cisco Spark implementation? (Choose two.) 

A. Spark Cloud 

B. CMR Premises 

C. Spark Hybrid 

D. Spark Premises 

E. CMR Cloud 

F. CMR Hybrid 

Correct Answer: AC 

 

QUESTION 3

Which TMS configurations must be properly configured for the administrator to be notified remotely when certain events
occur? 

A. email settings 

B. general settings 

C. activity status 

Correct Answer: B 

 

QUESTION 4

How many simultaneous HD calls can be supported on a Cisco Meeting Server 2000? 
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A. 25 

B. 500 

C. 108 

D. 96 

Correct Answer: B 

 

QUESTION 5

Which two statements about subzones are true? (Choose two.) 

A. Endpointsare assigned to a particular subzone by their alias or IP subnet. 

B. Subzones require the use of endpoint authentication 

C. Subzones are used for routing calls to peers in other parts of the network. 

D. Endpoints require the use of other endpoints for authentication 

E. Subzones are used for bandwidth and authentication control of a logical grouping of endpoints within the registration
list of the Expressway 

Correct Answer: AE 
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